Efficiency vs dr

0.8

mkFltOnglnaI RECO

mkFitNew__RECO

x n
g C
» L
> 0.7_—
> -
2 o
o 0.6
[® s
i= C
o 0.5

0.4

0.3H

0.2H+

0.1E—
o 10 aus, MV
T T DOMV0001~RO00000001 —Global
14 —_ D M~V0001-R000000001__Global 1

4 —— b M‘VOOOl RO00000001__Global _mkFitNew05_| REco

0.95
107

1072

[ Efficiency vs dr (track,jet) |

-1

1
TP min AR

B 0.1

0 0.09

=

o

x 0.08

£20.07

&

£ 0.06

@

=]

£ 0.05]

©
0.04
0.03
0.02

0.0

[y

Efficiency vs pu

1.2

1072

-1

1
AR(TP, jét)

o]

7 [

- [

Y L

> 1_ ...... M - e e e e e deeaeaeaahaaeaeaadeaeaeaeatan..n
[8) L

c

[ [ : : : : :

o r . . . . .
R S S S i S
L r : : : : :

R R =

IRERRRE

0.2F bbb

F g e Tt
A P B A e IS |
o +of : : : ;
@ r : ] ] ]
o L H g g g
1_— ------- ?}—:r --::—:,::—: :—::—:,::— ---:5r e s
oosb L L]
20 30 40 50 60 70 80




	Contents
	Page 1


